AR 2 -2 (REE) o g T s = -
(Eihﬂt(ﬁsﬂiﬁ) *HEE E&*ﬁiii*&i%E#%MEﬂ 75']%&#%'?.2 4) BE = *EEI*.H:A*?&E{% H%kiﬁiﬂrﬁ& = %*ﬁﬂbﬁ E+E = ($¥FEEIHE§) | &EH:II?E | ﬁﬁ*!’ﬁ

EAA HEBWENERE [BALDTE] ‘
’ ST EFRCLICHRBEOEREHTLENHY, MEFRLISRALDIEE S EE. #
AMNELGDIEEEHLIEN D, HASOHBEZIIMEFRESLITERT HIENEELLY,
MEFREF-VTEA—FBETOERZTIEE. JEEX2-30MEEE 0 RAZEIZEL.,
RHEEOEEFENICARET 2B EMEOHDEFHENLEH NS,
"BEROHENZLARISEELENGWGE(X. BE. TEEMT S,
HHEORAEOEE[A] 2,325,196
REAMEFECOHMESDRAZEDEEM] 2,325,196
ZHZA o
i
; D BEEEL(EE x| 14 | FHENEOD FTOFIETIZELY, FF
P | emms—e s FRAOMERL e |ixie) i | ZHETURE | B TR0 0k A oA ims AL RN
= =§¥Fﬁ§n REHEES BERE H—ER% R |- BI5ERES Egﬁw,&gﬁ (c) A, ENMTDDHIC
= = o| BEEEgEs i | @xp rol.)
= [ EPE @ g
k S0 | £F0 | $H0 | B0
EMEFE X BTAT 6F | 7THE | 7&H | 7&
128 | 1A | 28 | 3R
1 4311700076 AR AR JKJIET KINER [EEEXIEMmES: £ENE 22 O 15,000,000 7.2%| 1,080,000 O
2 4311700076 7N HEAE JKJIIET KIIZE MBERARXIE 32 O 6,800,000| 13.6%| 924800 O
3 4311700076 BERE AR SKJIET KINZE EHYAFR 24 (@) 0| 13.6% of O
4 4321700017 BEARE BEARIE 3K I ET ;gﬁ’j"’_jﬂ‘_‘l'é i)ﬂi;ﬁzﬂt(’? LY —ERBHE |55 @) 2,090,000| 9.4%| 196,460 O
5 4351700010 AR JZ N JKJIIET gg—%; 19—E2% REREXIE 61 O 480,000| 9.6% 46,080 O
6 4351700010 REARE AR JKJIIET gg—:ﬁ! 19—E2% MREETAY—ER 63 O 811,000| 9.6% 77856 O
7
8
9
10




